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QUESTION 1

When configuring adaptive QoS, which two statements are true? (Choose two.) 

A. A storage object can be a member of an adaptive policy group or a non-adaptive policy group, but not both. 

B. Adaptive QoS policy groups are always not shared. 

C. Adaptive QoS policy groups are always shared. 

D. The ratio of throughput limits to storage object size is determined exclusively by setting expected-iops. 

Correct Answer: CD 

 

QUESTION 2

You have an AFF A800 system with a 100 TB volume. You are using all default settings and have 4:1 storage efficiency.
You are asked to replicate to a Cloud Volumes ONTAP instance for disaster recovery. The destination volume has post-
process compression disabled and is set up with the MirrorAllSnapshots policy. 

In this scenario, how many terabytes will be used on the Cloud Volumes ONTAP destination? 

A. 50 

B. 25 

C. 100 

D. 75 

Correct Answer: C 

 

QUESTION 3

Your company has purchased a NetApp HCI. You are asked to deploy HA file services out of the NetApp HCI system. 

Which two actions accomplish this task? (Choose two.) 

A. Select "Yes, I want to enable File Services" on the NetApp Deployment Engine. 

B. Provide an ONTAP Select license file. 

C. Provide an ONTAP cluster base license key. 

D. Use ONTAP Select Deploy. 

Correct Answer: BD 

 

QUESTION 4
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As the administrator of NetApp Cloud Insights, you want to set up an alert on your on-premlses NetApp ONTAP system
when a volume reaches 70% full. 

In this situation, which two actions are required to accomplish this task? (Choose two.) 

A. Create an annotation for volume capacity. 

B. Monitor the action field in Auditing Events. 

C. Set up an alert. 

D. Create a Performance Policy. 

Correct Answer: AC 

 

QUESTION 5

What is the difference between a mirror and a backup replication policy? 

A. Mirror replication policies can retain more Snapshot copies at the destination than at the source. 

B. Backup replication policies are faster than mirror replication policies. 

C. Backup replication policies can retain more Snapshot copies at the destination than at the source. 

D. Mirror replication policies are faster than backup replication policies. 

Correct Answer: A 

NS0-302 VCE Dumps NS0-302 Practice Test NS0-302 Braindumps

Powered by TCPDF (www.tcpdf.org)

NS0-302 VCE Dumps | NS0-302 Practice Test | NS0-302 Braindumps                                3 / 3

https://www.passapply.com/ns0-302.html
https://www.passapply.com/ns0-302.html
https://www.passapply.com/ns0-302.html
http://www.tcpdf.org
https://www.passapply.com/ns0-302.html
https://www.passapply.com/ns0-302.html
https://www.passapply.com/ns0-302.html

